SENEX PUERUM PORTABAT

Anthem for Candlemas
(The Presentation of Christ in the Temple
or The Purification of the Blessed Virgin Mary)

Missale Romanum Christopher Upton
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Accomp. Accompaniment for rehearsal only.
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Senex puerum portabat : puer autem senem regebat.
The old man carried the child : but the child ruled the old man.

HIS is the alleluia verse for the Mass of the feast. For liturgical use the alleluia must be added as follows:

The first Alleluia is sung by one or two voices as far as the asterisk *, and then the choir repeats the Alleluig,
continuing with the neum or jubilus which prolongs the syllable a. Then follows the Verse, Senex puerum portabat.
When the Verse is finished, the cantor or cantors repeat the Alleluia, and the full choir sings only the closing jubilus.
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In other use, as an introit, anthem, or concert piece, it is not necessary to add the alleluia.
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